
Part # Description Price
PRICES UPDATED 12/20/14

1950 - 1968 650 TWINS 

Engine
MPE001 Timing Cover Allen Screws (10) (also fits 500 models) 16.75$     
MPE002 Timing Cover Slotted Head Screws (10) (also fits 500 models) 20.75$     
MPE044 Rocker Box Center Bolt- 5 15/16" 1960 - 69 650'S (2) 20.75$     
MUE003 Points Cover Allen Screws (2) (also fits later 500 models) 4.90$       
MUPE25 Nut & Lockwasher - Rocker Box to Head Steady (2) 7.00$       
MUPE28 Dome Nuts for Rocker Oil Feed (2) 41.95$     
MUPE46 Rocker Box to Cylinder Head Nuts & Washers (6) Alloy Heads 4.45$       
MUE040 Timing Cover Allen Screws (8) 34.95$     

Gearbox & Primary Cover
MPG001 G/Box Outer Cover Allen Screws (7) 22.95$     
MPG002 Slotted Head Version of MPG001 23.95$     
MUG007 Gearbox Outer Cover Allen Screws (5) 32.50$     
MUG033 Primary Cover Allen Screws (8) 39.90$     
MUG034 Primary Cover Dome Nut & Washer 5.50$       
MUPG11 Gearbox Cover Dome Nuts & Washers (2) (also fits 500 models) 11.00$     

1969 - 1975 650 TWINS

Engine - 9 Stud
MUE042 Cylinder Head Center Bolt and Washer 15.15$     
ME0115 Rocker Box Outer Bolts and Washers (4) 47.50$     
ME0113 Rocker Box Bolts with Extension For Head Steady (4) 79.00$     
ME0102C Cylinder Base Nuts (8) - Cycle Thread (through 1969 - single hex) 20.95$     
ME0102U Cylinder Base Nuts (8) - UNF Thread (1970 on - single hex) 20.95$     
ME0110 Timing Cover Allen Screws Including Points Cover 18.25$     

Engine - 10 Stud T140 Type
MTE001 Rocker Cover Allen Screws (12) 17.50$     
MTE002 Rocker Box Nuts & Washers, Underneath (6) 3.95$       
MTE004 Rocker Box Bolts, 3/8” Dia. with Integral Washers (4)  
MTE019 Rocker Box Bolts - 1/4” Dia. (4) 8.95$       
MTE005 Rocker Feed Dome Nuts (2) 11.00$     
MTE016 Cylinder Base Nuts & Washers (8) 31.90$     
MTE007 Timing Cover Allen Screws (8) 13.75$     



MTE008 Points Cover Allen Screws (2) 4.50$       

Gearbox & Primary Cover
ME0136 Primary Cover Allen Screws (8) 650 only 13.45$     
MTG001 Outer Cover Screws - Allens (5) 650 only 16.25$     
MTG002 Gearlever Pinch Bolt & Washer 2.50$       
MTG004 Outer Cover Dome Nut & Washer 4.95$       
MTG005 Kickstart Pedal Pivot Bolt 12.80$     
MTG006 Outer Cover Plain Nut & Washer 0.95$       

T140 & TR7 MODELS

Forks & Front Wheel
MTF001 Handlebar Clamp Bolts & Special Thick Washers (2) 9.85$       
MTF002 Locknuuts For MTF001 (2) 3.95$       
MTF003 Amal Twist Grip Clamping Screws - Special Small Head (2) 5.75$       
MTF004 Master Cylinder to Handlebar Clamp Screws, Slotted (4) 2.10$       
MTF005 Clutch Lever Clamp Screws (2) 5.50$       
MTF007 Steering Column Clamp Bolt & Nut, Top Yoke 6.00$       
MTF008 Stantion Clamping Allen Screws, Top Yoke (2) 8.95$       
MTF009 Stantion Clamping Bolt & Locknut, Bottom Yoke 16.75$     
MTF010 Wheel Spindle Clamp Nuts & Washers (8) 5.95$       
MTF087 Wheel Spindle Clamp Studs (8) 44.50$     
MTF016 Mudguard Mounting Kit, 27 Pieces 34.95$     
MTF081 Fork Stantion Top Nuts - Hexagon Type (2) 46.50$     

Note: The Top Nuts on these models are 3 part assemblies, a plug that Screws 
into the Stantion, a round or hex Top Nut that Screws into the plug and a 
Washer between the Top Nut and plug. MTF081 replaces the Top Nut. The 
washer is MTF082. The plug is not available.

MTF082 Washers For MFT081 (2) 13.95$     
MTF083 Steering Column Top Nut 33.50$     
MTF091 Wheel Spindle 88.95$     
MTF096 Wheel Spindle Nut (1) 19.50$     
MTF098 Clutch Lever Pivot Screw & Locknut 7.50$       
MTF099 Brake Lever Pivot Screw & Locknut 7.50$       
MTF092 Caliper Mounting Studs (2) 20.50$     
MTF012 Nuts For MFT092 (2) 4.50$       
MTF093 Caliper Pistons (2) 45.42$     
MTF014 Caliper Cover Mounting Screws (2) 0.90$       

Engine & Covers
MTE001 Rocker Cover Allen Screws (12) 17.50$     



MTE002 Rocker Box Nuts & Washers, underneath (6) 3.95$       
MTE004 Rocker Box Bolts - 3/8” Dia. with Integral Washers (4)  
MTE019 Rocker Box Bolts - 1/4” Dia. (4) 8.95$       
MTE020 Rocker Box Socket Sleeve Nuts (2) 32.00$     
MTE005 Rocker Oil Feed Dome Nuts (2) 12.50$     
MTE006 Rocker Oil Feed Rubber Pipe Jubilee Clips (2) 10.00$     
MTE016 Cylinder Base Nuts & Washers (8) (single hex) 31.90$     
MTE007 Timing Cover Allen Screws (8) 13.75$     
MTE032 Timing Cover Allen Screws (11) - Electric Start 27.00$     
MTE008 Points Cover Allen Screws (2) 4.50$       
MTE009 Primary Cover Allen Screws (8) 13.20$     
MTE017 Dome Nuts For Primary Case  (2) 9.95$       
MTE010 Crankcase Breather Pipe Allen Screws (2) 4.90$       
MTE011 Carb to Manifold Self-Locking Nuts (4) 5.60$       
MTE012 Amal MK1 Float Chamber & Top Allen Screws (4) 11.00$     
MTE018 Amal MK2 Float Chamber & Top Allen Screws (4) 11.00$     
MTE015 Lower Engine Mounting Stud For Exhaust Pipe Ties + 4 Nuts 17.95$     
MTE013  Allen Screws/Nuts - Exhaust Pipe Finned Rings (2) 7.95$       
MTE025 Front Engine Mounting Bolt, Locknut, Washers 27.95$     
MTE023 Spacer For MTE025, Left Side 7.00$       
MTE024 Spacer For MTE025, Right  Side 7.00$       
MTE026 Center Lower Engine Mounting Stud & Nuts 27.95$     
MTE027 Spacer For MTE026 - Left Side 11.00$     
MTE028 Spacer For MTE026 - Right Side (Longer) 11.00$     
MTE029 Head Steady Spacers (2) 11.95$     
MTE033 Crankcase Clamping Bolts (6) 43.95$     

Note - when fittingMTE33, MTE15 is also required
MTE034 Special Dome Nut for Pressure Relief Valve 19.95$     
MTE036 Domed Plug for Ignition Timing Hole 10.95$     
MTE037 Cylinder Base Stud Set 54.95$     

Gearbox
MTG001 Outer Cover Screws - Allens (5) 16.25$     
MTG002 Gearlever Pinch Bolt & Washer 2.50$       
MTG004 Outer Cover Dome Nut & Washer 4.95$       
MTG006 Outer Cover Plain Nut & Washer 0.95$       
MTG005 Kickstart Pedal Pivot Bolt 12.80$     

Frame and Fittings
MTF022 Rear Engine Plate Bolts & Locknuts (9) 43.90$     
MTF024 Rear Shock Bolts & Locknuts (4) 29.00$     
MTF025 Rear Fender/Number Plate Bolts/ Locknuts (48 ITEMS) 49.00$     



Rear Brake and Wheel
MTF033 Wheel Spindle Nut & Washer 8.00$       

Exhaust
MTX002 Bolts (2) & Locknuts (4)  - Exhaust Pipe to Frame Bracket 9.95$       
MTX006 Muffler to Bracket Bolts, Locknuts & Washers (4) 10.90$     
 

T150 MODELS

Gearbox
M3G001 Gearbox Outer Cover Allens -  includes the super long screw 22.95$     

 
T160 MODELS

Engine & Covers
M3E019 Primary Cover Allen Screws (17) 41.00$     


	Sheet1

